b 2 X g (A7 4 62 50)

103 # 57" 30 P4

;;’éi. HiEd ¢ o (B £+ 83-3 5L)

103 # 5% 30 p 4=

FIREER S - PR AFE AR RELBREF FAAB LY
R LR AR
! Wi B (R E 1.8 S L RN B EFFEL) @5 P Hp =
* i ArH 2R e eT(EAR S BT ATH 2 214-13 %) 109 & 4% 13 p 4=
H B SPHERY S (EAERARSRS PR 108 VER 12 15) 103# 5% 29 p 4=
Su KR ERTEAF R EAMHENS 0 4 AKTE 24 2 250) 103 5% 29 p 4=
A AR T C(EERFRAFr HERATF T - 15 103 &5 % 29 p 4=
AfeEd? (Aot £ A 4;»;4312%,*0) 108 # 27 19 p 4=
PEAARBE Y (AR HRMITRH 1 28245 110 50) 109 & 10 * 27 p 4
ATk 7R EA S By (EAFATEFREAN H 6D 5L) 103 # 5" 26 p 4
SEHER Y S (EAEITESRAEH AR 3382 1) 10357 26 p 4=
Ak AR P (EAFATE RS RIS E S 55 103 # 5 % 26 p 4=
FTERE I AT FE? C(ERFITERa §H 28538902 25) 109 # 11 % 12 p 4=
LR T EE T s (AR LIRS T 2 4843 %) 103 &5 % 30 p 4
r @R EL F(EARF LRI B AR ® 42 28) 103 &5 7 30 p 4
£ B85 Sfet L 2 (R L RS foftsid Tk 16 2 1 50) 103# 5% 30 p 4
z#gﬁfif;?(i%zmw:%mﬁ%wwz 2%) 103 &5 7% 30 p 4
HE L (EREGF LRI 2 L B 12 50) 103 &5 % 30 p 4
iR B R ¢ o (BRI 22-20 50) 105 & 12 * 6 p 4=
(< Ee FIdE) 105 # 127 6 p 4=
28y (EEFE LIRS 3+~ T8 36 50) 108 # 17 1p4
B AR RS S (EREY HARPRN I6ER 1752 2) 103# 5% 21 P4
L@fiEd? o (RARY MA@ A awr2b 2 15) 103 &5 % 21 p 4
meHER Y (AR ¥R E A 45 80) 103 &5 % 21 p 4
ZEHAERFR? (2 W E 25) 107# 8% 2p4
> YR = BrkEEE ¢ (5 % 39 BL) 103# 5% 30 p 4=




2ANREEFGT FFRT R L M SRR
3lj%fiéy*—}fl‘$:ﬂ}.hﬁ_f)£%§1Aﬁ P ERANE G
e 5 i B(E L8 DL RN EERSGER) LR [
LERTE Y (L EH 681 %) 1035 7 30 p 4=
B LE G4 191 82) 10357 29 p4e
friddt B de ¢ oo (it 42 22 1 50) 103# 5% 29 p 4=
HAEE g (B A S 3 %106 8) 103 #5 7% 29 p A=
A BB (s 4 28 5L) 10357 14 p4=
Lg~#F (> 4 1672 1%5) 105# 3% 16 p 4
> OHPFRE AL R B ¢ s GEBH TT 5L 111 # 27 11 p 4
* R4 BHEZ T4 (AR T REHHFZ BHEEE 20 2 1 55) 103#6" 574
A B ER Y S (AT REF 22 T25) 103 # 6% 5 p4=
AR AR Y o (EARMT RAITL T T2 26%) 103#6* 5 p4=
e~ Fy (RART BEHF L2 7 £ F 1325 110 & 2 7 25 p 4=
R SR LR AR P o (REH 196 2 15) 103 & 57 21 p 4=
R FEE Y s (PR 18 2 350) 103 &5 % 26 p 4
AulidEE Y o (F L 2192 1T %) 103 #5 % 26 p 4=
%R AR s (5 Rt 91 5L) 103457 21 p 4
S ? oo (nH 69 2) 103 & 57" 21 p4=
TLEEREF(TL5E) 108 & 2 7 26 p A2
B (PAHAT IR 11077 19 p 4
& © 5% E A E ¢ s GEH 100 B 103 # 57 27 p 4=
LEREE P o (LR 9 48 169 5) 103 & 57" 27 p 4=
LG A o (L 100 52) 105& 77 26 P 4=
AT PR ARATR 2 5) 105 # 77 26 p e
Ao HiEe Y o (GrE 2 A T8-1 50) 105 # 7% 26 p 4
LieFRE ERE(L L 62350) 108 & 2 7 26 p 4=
TEAFERT S (FEAHTE ) 109 & 2% 27 p 4=
A7 (P EHEES 30550 111 & 27 11 p A=




PAREFGT FFRT AR LF Frcd S T g
N%%i%%*ﬂ?l%%fﬁ%i‘ﬁﬁ%i%ﬁ%?ﬁibﬁﬁﬁ
R w s (L8 2L RALP REFEGEH) 750 i

%«amaﬂé"ﬁ*tﬁ:ﬁ# F MR GE FH A B 4852 1) 111427 2374
i % 7% Bk ES ¢ o (L AM méﬂmﬂﬁgﬁ 10357 22 p 4=
S ER T S (B RR L R 3L 3 103 57 22 p 4
EEDLNEREERATF T%%(i%miPé"‘i/iﬁB 16 &) 110 # 2 % 25 p 4=
LERHATHE B g (REML 2 G H 428G 3 £ RPN ) 110 # 27 25 p 4=
%iiﬁ*ﬁ 7 (AL E R 2 4 64-2 5) 110 & 27 25 p 4=
ERAEMEPAREERE (AR LEMERHT §1 43 5) 110 # 2% 25 f 4=
kg *Z%ﬁ?ilﬁﬂ’é‘(*i%ﬁ::a‘_iimﬁi) 10357 1474
<R AR (5 B 4950 104 47 2p4s
Bl & PR (R = 4 107 52) 103 # 5% 21 p4
B A B 6 T (R = Ry 107-1 5) 104 17 8p4s
ZhHEEY (2 RHz Ry 190 50) 104 # 47 2pA
TR ER (T RHET R 949 R) 1034 67 20 p 4=
R T S B (IR 148102 2 15 103 6% 20 f 4=
P it R g% (2 Az Ay 150 %) 108 & 1% 22 f 4=
N AT AR (2 F T 196-1 8) 108 # 57 22 f 4=
TRRE i e ® (i 17 22 6 2 2 %) 10367 5p4s
Fo e ? oo (PFe HIREF D6 5L 1) 103 %67 10 p 4=

%"ax’H'/r'ﬁ"cl \-’( }P‘ﬁ 73 l{éf;u)

104 & 17 19 p4=

e+t imd? o (3 & 16 5.2 5)

105 # 12 % 6 p 4=

AR EE o (A A R 60 55)

106 & 12 * 27 p 4=

Ft B R 7 (S S Rur 25-1 50)

108 # 12 * 13 p 4=




AR FRT FFRT R L ki s g
FIRETZE - R FTRAE W R IE D
SR
FhT Wi (R F 18 SRR AN R REOER) Fp =
=T ARRZ A Y s (FART 33-1 5L) 103 # 6% 30 p 42
AR Z B s (BHEZ 5-8 5L) 103 &6 % 30 p 4=
L2 R (L2 24-5%8) 103 & 6 % 30 p 4=
rrEen (L2 93-15) 103 & 6 % 30 p 4=
FRLERY e (FFLIE) 103 & 6 7 30 p 4=
B2 EEY o (52 165-15) 103 & 6 % 30 p 4=
L gRERY e (B2 114-3 %) 103# 67" 30 p 4=
WLBRIRY o (3502 112 8) 1032 6 7 30 p 4=
BT R ERY o (AR 28-6 %) 103 & 6 % 30 p 4=
PR RAARHMARY v (? %2632 25) 103 & 6 7 30 p 4=
BT ERY (TR 13 AR 130%&) 104 # 5% 1 p4
SRR SR (L2 2 A8 24-28 5L) 104257 1p4
= frd 2 (xE 2 51-550) 104 #5 7% 1 p4
PEIAFRER Y S (FHiE L 52-195) 103 #11 7 28 p 4=
B 2% 7 (e 4##}%%&43%) 103 & 11 % 28 p 4=
BELIFRER? S(RELTRE T2-25) 103 &=11 7 28 p 4=
RFZER? SOR 216 8 &) 107T# 6% 5p4
'r'w%g%%awg (FARZ w8 522 1 %) 10817 1 p4=
Foae 2R (B 42 4T-T5) 108 & 27 13 p 4=
Ll ¥ %mg-;éﬁ%r"u(—ﬁ- 2 16 48 31-1 55) 103 & 6 " 30 p 4=
L2 RR? (NP2 16-1 50) 103 &6 % 30 p 4=
&L ER Y o ($h% 2 58 32-1 50) 104 # 57" 1 p4
Frasrfgssd c(FFLar$5 762 350) 104 # 87 17 p 4=
BRIAFFERE(FRL 2MF R 142 25) 106 # 2 * 24 p 4=
e LAARHFERE (a2 44830-350) 106 & 2 7 24 p 4=




PAREFRTFFRTRD LS Feed S Far g
FIBEE - F R FTHRAET A FRELBEF RALABI TS
Frw w war e BL( R F 1.8 D2 RARPN R REFIFGEL) 5 p e

RFIATHERE (352 66-45) 106 & 2 7 24 p 4=
22 HEF (L2 1935) 104 &8% 17p4
T B T RN EY ENETIED 103 & 6 7 30 p 4=
LAY (e 37 2 2 BL) 103 &6 % 30 p 4
TR R A (42 5452 1) 103 & 6% 30 p4=
TR P Y (W4 22 5 16-0F) 103 # 6 % 30 p 4=
Rz (7742 84778 36-3 %) 105 # 2% 25 p 4
Fo5 2 Bogr(3an T 4817 5) 106 # 3% 15 p 4=
¢ ok g (¢ R <R 11 5) 107 & 1% 4p4
2on 2R g (FAHRE 2 12 48 28-1 50) 107T# 5% 9pd
HreLpd F (e A3 R 15 50) 107 # 8 * 20 p 4=
Hgié P (FR LA 13-350) 107 & 8% 20 p 4=
2 (P Y B 3-2 BL) 107 & 8% 20 p 4=
TR AFFERE (IT4, 2 b AR 11 5) 109 # 2% 25 p 4=
2B Ed e (2 4 ARy 2] 20 6 5) 111 # 27 8p4
4T PEZERY Y (ZAERPMEZ 195 103# 6 % 30 p 4=
AL RRY e (BL2 TT-250) 103 &6 * 30 p 4=
MR B o« (k2 31 50) 103# 6 % 30 p 4=
ko2 B < (%402 51-10 8) 103 # 6 * 30 p 4=
HEAe2 BIRY < (Efr2 £ 7 60-750) 105 # 3 7 18 p 4=
ELaR(EF L2 74 5) 104 #5 % 1p4
SR 2L AR L 6 AR 49 5) 106 # 2 % 14 p 4=
TEw PR BERe s (PP 22T 20-] 5) 103 & 6% 30 p4=
LB ER Y o (B2 5T 103 %67 30 p4=
«’ﬂﬂil“séﬁu‘m(fﬂﬂi%al%i) 103 # 6 * 30 p 4=
SHETFERY e (BT AHF 95 103 & 6% 30 p 4z




PR BGET FFRTR DS BeCE S Rl B g
NHEEE2F-F j?: FEETHAEE A AREZ KR FAABIER
i owl Wi BE(RF 1.8 22 RN AR EFOER) FoEp % T
EEE? +Paf!_f«,r*»<<wszﬁi) 103 % 6 30 pAc
FrERERY o (F7E 2 95 5) 103#6* 30 p4 |- ~ZARZHRY <~ (ZARZ
3EXLEE? v (542 |5 103267 30 pd= | 1-108)% T 42 5o
P8 E e (¢ e 115 5) 10367 30 paz  |<(T4e2 154154 %) > §
BELERY (B LT T4-11 5) 103267 30 pd= (109 %37 2P BFERL
,&%Eéﬁﬁ( #2456 %) 10326 30 pde  |Fas T2 R 2ZHMIRKEE, (4
FRIRZAE 7 (FRtRZ 9-1 30) 103#67 30 pde [P HF7F=R2ic10-2
FRIMMY < (FF2L3525) 103 % 6" 30 pdz |7 2 T F T AR MRS
CE TELEME(Z AL 2B 6l 5 103#6% 30 paz (X3P F" FELETF
SRR A L i 10-2 %) 104&507 1pae |1945)°
T A (T L BT § 154 %) 04250 1pae |- " #FZAEIR(ERDH
% AL G mEs c(PLTE LT3 25 03267 30 pde [PRéFLSZIROE1E5
E‘ezéw»unmw«%) 03#6° 30 pae |00 A 109&2% 27T p 25
%7 (LAl 130 %) 05287 [pa |[PedfFfLefirus s
3010 % ENER'T ERENEN LTS 03267 30pd4 | omid (ka7 BpFs
M2 WA < (L2 845 04&57 1phk | orEsi6lE55):
Sl e o (7 L 38-6 Bh) 106 1" 25p 4
ATe LT (AT 532 55 106% 17 25 p 4=
I Ede 0 o (R fr2 19-1 5) 106 %17 25 p 4=
T RLEH o (] A2 53-05) 106 %17 25 p 4=
ffed g 2g(Lie2 31 %) 106 %47 10 p 4=
AL 3Bl AT 34 107217 4p4
N EE I D) 10757 974
TRLA LA L 60-15) 109 17 20 pas
A RL AR (A F L 35 109 % 17 20 p 4=
TR ML MR o (KL MATE 26K 25) 103 %6 " 30 p 4=




2RGEEFET FFRT R U RS Fms
SR EL Y- TR ETHAFT A AR L BdF RAAB I TS
i w wiwm B (¥R 1.8 2 LRAEN A EFFNER) Fp Y T
HEp2 T a s sdr o (G2 M ATE 2 FX 142 52) 104 & 17 26 p 4=
TP EZEEI (TPE TP D)) 103 & 6% 30 p 4=
EPLE L F GRPLE 3 - 425 5E) 106 # 17 25 p 4=
B2 A% ¥ (3222 3223 651 & 530) 106 & 1 % 25 p 42
Ea P2 MIRY <~ (F1B2 58 5) 103 % 6% 30 p 4=
HAHZ 2 R ERP (%ﬁ#”%«r 31 55) 103 # 10 * 27 p 4=
B TMIEY (BT E P4k 31-15) 103 & 10 * 27 p 4=
AR LMY o (RTR L AR ¥ 8-2 5) 103 & 127 8P4
TR B Ed P o (BT 2R ¥ 19-9 81) 105& 27 2p4
RETERP S (RET A F 59-35 50) 103 & 12 % 8 p4
)2 ex (&2 Wiz 5-1%) 103 % 12 % 8 p4=
2Al ABEERERY (232 LB 11-15) 109 & 17 6 p4
S bR EAFHfoiE o (P el 98 5E) 104257 1p4
AF AP AR S F 36 5L) 104 #5 % 1p4
PRHLERY (BT 3T-25) 104 # 5% 1p4
THIERY (THET 48 5) 104 #5 % 1p4
12 ER Y (242 355) 104 #5 % 1p4
(S RE T FATE A (H AT 10 #8106 8) 104257 1p4
Frd 2 BRIRE(FTR 2 60-2 5L) 104 #5* 8p4dx
&:;grf,ér*%ﬂh(luw 72 55) 104 257 8p4e
5 BT BRI ER(E AT 28 5L) 104 #57 8p4
FEL AP (7R 16 A8 172 55) 105# 8 7 31 p 4
AP m;?’(f%%f 16-2 55) 104257 1p4
T g (42 91-5 5L) 10457 1p4
ERRFREEE AP w(2£2 1195 106 # 2% 10 p 4=

'F@"& \\\

“Ee x g (=k2 318%)

106 # 5% 1 p4




2RGEEFET FFRT R U RS Fms
3'J%§i/éiﬂﬁ?:‘?%{ﬁ%§i‘ﬁﬁfﬁ”ﬂ“—i%iﬁz' f\f;'%\','éﬁit:—%—
Biow wip 2 BB 1.8 ML RARPN EEREGER) @5 p g e
T*?&?'ﬂt‘»(a 23 27%) 107 # 9% 28 p 4=
ERFLEE (F L 235) 107 # 9% 28 p 4=
R <faf!_>pévr*.»(«fas!;3%fu) 104257 1p4
T Fa o HEE§ AR DL 24-30 ) 104&52 1p4
L2 EEE(2 LT 795 104#5% 1p4
o Bom ZRRY o (Rw LR E 58 EL) 10455 1p4
Hr 2%y (8r 2 TH) 10453 1pA
B2 RAKTERY /B TAT MGG 2 B 228 2 1 5) 105&17% 1p4
g % 2R AE p (AL 2 - ARETE R 16-30 35) 104257 1p4
SR 2 ER Y o (&L - 450 5E) 10453 1pA




